Final Review?7 (Fall 2018)-f19 January 8, 2020

MCT4CI Final Review 7 (updated-Fall 14)

Round all measurements to 3 decimal places, and all angles to 2 decimal places.
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1. Determine the volume of each figure.

a) l:)

Hemigpherss 11.3 cm in diameter

r=2.4m
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2. Determine the total surface area of each figure.
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3. Determine the volume of wasted space (air) in a can of tennis balls, if the radius of a tennis ball is 3 .5 cm.

P i
E
E e

e

4. If the angle between the blades if 118°, and each blade is 32.7 m long,
a) determine the area between any two blades
b) determine the length of the arc between any two blades
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Answers MCT4CI Final Review 7
12) 1046.096 cm3  b) 3449.469 cm? c) 287.979 cm? d) 173.718 cm3
2a) 235.619cm?2 b)) 1613.610cm2  ¢) 66.391 cm? d) $14.32

3. 269.392 cm3

4a) 1101.095m>  b) 67.345m
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